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Download:https://www.braindump2go.com/200-310.html2.|2018 Latest 200-310  Exam Questions & Answers

Download:https://drive.google.com/drive/folders/0B75b5xYLjSSNbmNsWnFEczRBdU0?usp=sharing QUESTION 105What

submodule is found within the Enterprise Edge module?A.    enterprise WANB.    remote branchC.    campus IPSD.    building

distributionAnswer: AQUESTION 106A company requires a managed WAN solution that supports Layer 2 adjacency across

remote offices for applications and services. What solution should be selected?A.    DMVPNB.    MPLSC.    VPLSD.    FRAnswer:
CQUESTION 107A circuit order has been placed for Gigabit Ethernet and is 80KM from the carrier equipment. What type of SFP

will be required?A.    TXB.    SXC.    ZXD.    LXAnswer: CQUESTION 108Which Cisco security mechanism has the attributes

listed below?- it is a sensor appliance- it searches for potential attacks by capturing and analyzing traffic- it is a "purpose-built

device"- it is installed passively- it introduces no delay or overheadA.    IKEB.    PIXC.    HIPSD.    NIDSE.    HMACAnswer: D
QUESTION 109A secure WAN design requires dynamic routing and IP multicast. What two VPN protocols meet these

requirements? (Choose two.)A.    Standard IPsecB.    P2P GRE over IPsecC.    DMVPND.    AnyConnectE.    PPTPF.    Easy VPN

G.    SSL/TLSAnswer: BCQUESTION 110What branch design supports 100 to 1000 users and integrates ASA firewalls?A.    small

B.    mediumC.    largeD.    extra largeAnswer: CQUESTION 111A network engineer is designing an enterprise managed VPN

solution for a large number of remote offices that do not have on-site IT support and communicate only with the home office.What

type of VPN solution should be implemented?A.    VPLSB.    GREC.    IPsecD.    EVPNE.    DMVPNF.    SSL clientAnswer: D
QUESTION 112A remote office has a T1 WAN link to headquarters and a T1 Internet connection. The client requests WAN

redundancy to headquarters with similar bandwidth. What two connection types satisfy this requirement? (Choose two.)A.   

Secondary T1 WAN circuitB.    ISDN BRIC.    IPSec Tunnel over the InternetD.    DWDM lE.    POTS Line T1 WANAnswer: AC
QUESTION 113What two features are advantages of adding a secondary WAN link at the enterprise edge? (Choose two.)A.   

provides additional bandwidth and load balancing capabilitiesB.    acts as a backup link in event the primary link failsC.    reduces

capital and operational costsD.    improves security and prevents against denial of service attacksE.    distributes traffic proactively

based on link utilizationAnswer: ABQUESTION 114What technology can secure data over an insecure medium and provide WAN

redundancy in the event of a primary connection failure?A.    virtual private networkB.    shadow PVCC.    dial-up ISDND.    GRE

TunnelAnswer: AQUESTION 115A client wants to consolidate applications that are currently housed at multiple sites to a remote

data center. What two design requirements are unique to this scenario? (Choose two.)A.    bandwidthB.    securityC.    latencyD.   
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